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1. “…ÛÜ¬ÛÙïõ ÍÛ¾ÛÍýÛÛ ¸ÛÍÛ×þù•Ûà¶Ûà ÍÛ¾ÛÍýÛÛ ™öé, ¸ÛÁ×õ©Ûä ¼ÛµÛà ¸ÛÍÛ×þù•Ûà¶Ûà ÍÛ¾ÛÍýÛÛ…Ûé …ÛÜ¬ÛÙïõ ÍÛ¾ÛÍýÛÛ ¶Û¬Ûà.” 

– ÜÈÛµÛÛ¶Û ÍÛ¾Û›ÛÈÛÛé.  14 
 “An economic problem is a problem of choice but all problems of choice are not 

economic problems.” – Explain the statement. 

    …¬ÛÈÛÛ/OR 

 (A) ¾ÛæÅýÛ …¶Ûé Ýïõ¾Û©Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé.  
  Explain the difference between value and price. 
 (B) ©ÛäÜÌ¤ø•Ûä¨Û¶ÛÛé …¬ÛÙ …¶Ûé ¸ÛóïõÛÁõ ÈÛ¨ÛÙÈÛÛé.  
  Describe the meaning and types of utility. 
 
2. ¾ÛÛ×•Û¾ÛÛ× ÜÈÛÍ©ÛÁõ¨Û …¶Ûé ÍÛ×ïõÛé˜Û¶Û ©Û¬ÛÛ ¾ÛÛ×•Û¾ÛÛ× ÈÛµÛÛÁõÛé-–Û¤øÛ¦øÛé …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. 14 
 Explain expansion-contraction in demand and increase-decrease in demand with 

diagram. 

    …¬ÛÈÛÛ/OR 

 (A) ©ÛäÜÌ¤ø•Ûä¨Û ÜÈÛÉÅÛéÌÛ¨Û¶Ûà ¾Ûþùþù¬Ûà ¾ÛÛ×•Û Áéõ”ÛÛ¶Ûà ©ÛÛÁõÈÛ¨Ûà ÍÛ¾Û›ÛÈÛÛé.  
  Explain derivation of demand curve with the help of utility analysis. 
 (B) ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ˜Û˜ÛÛë.  
  Discuss the factors affecting – elasticity of demand. 
 
3. ¸ÛäÁõÈÛ¥øÛ¶ÛÛé Ü¶ÛýÛ¾Û …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÈÛ¨ÛÙÈÛÛé …¶Ûé ©Ûé¶ÛÛ …¸ÛÈÛÛþùÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  14 
 Describe the law of supply with diagram and discuss its exceptions. 

    …¬ÛÈÛÛ/OR 

 ÍÛ¾Û›ÛÈÛÛé :  
 Explain : 
 (i) ¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛ× ºéõÁõºõÛÁõ¶Ûà Ýïõ¾Û©Û ¸ÛÁõ …ÍÛÁõ.  
  Effects of change in demand on price. 
 (ii) ¸ÛäÁõÈÛ¥øÛ¾ÛÛ× ¬Û©ÛÛ× ºéõÁõºõÛÁõ¶Ûà Ýïõ¾Û©Û ¸ÛÁõ …ÍÛÁõ.  
  Effects of change in supply on price. 
 (iii) ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ¾ÛÛ× ¬Û©ÛÛ× ºéõÁõºõÛÁõ¶Ûà Ýïõ¾Û©Û ¸ÛÁõ …ÍÛÁõ. 
  Effects of change in demand and supply on price. 
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4. (A) ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé.  14 

  Explain the types of division of labour. 

 (B) ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ˜Û˜ÛÛë. 

  Discuss the factors affecting division of labour. 

   …¬ÛÈÛÛ/OR 

 ¾Ûæ¦øà¶ÛÛé …¬ÛÙ …¶Ûé ©Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé.  

 Explain the meaning and features of capital. 

 

5. (A) ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 8 

  Choose the correct option : 

  (1) ÍÛæýÛÙ¸ÛóïõÛÉÛ, ÐüÈÛÛ ÈÛ•ÛéÁéõ _______ ÈÛÍ©Ûä ™öé.  

   (a) …ÛÜ¬ÛÙïõ  

   (b) Ü¼Û¶Û …ÛÜ¬ÛÙïõ  

   (c) ÍÛÈÛÙÍÛäÅÛ½Û 

   Sunshine, air etc. are _______ goods. 

   (a) economic 

   (b) non-economic 

   (c) free 

  (2) …¬ÛÙÉÛÛÍªÛ¶Ûà ÍÛ×¸ÛÜ«ÛÅÛ“Ûà ÈýÛÛ”ýÛÛ …Û¸Û¶ÛÛÁõ …¬ÛÙÉÛÛÍªÛà¶Ûä× ¶ÛÛ¾Û _______ ™öé.  

   (a) ¸ÛóÛé. …é¦ø¾Û ÜÍ¾Û¬Û 

   (b) ¸ÛóÛé. ¾ÛÛÉÛÙÅÛ 

   (c) ¸ÛóÛé. ÁõÛéÜ¼Û¶ÍÛ 

   The wealth oriented definition of economics is given by Prof. _______. 

   (a) Adam Smith 

   (b) Marshall 

   (c) Robbins 

  (3) ¾ÛÛ×•Û _______ ¶Ûä× ÜÈÛµÛéýÛ ™öé.  

   (a) Ýïõ¾Û©Û 

   (b) …¶ýÛ ¸ÛÜÁõ¼ÛÇÛé 

   (c) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  

   Demand is a function of _______. 

   (a) Price 

   (b) Other factors 

   (c) None of the above  
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  (4) ¾ÛÛ×•Û¶Ûà …ÛÈÛïõ ÍÛÛ¸Ûé“Û©ÛÛ¶Ûä× ÍÛæªÛ ™öé _______. 

   (a) 
…ÛÈÛïõ¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ
¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ   

   (b) 
¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ
Ýïõ¾Û©Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ  

   (c) 
¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ
…ÛÈÛïõ¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ  

   The formula of income elasticity of demand is _______. 

   (a) 
Percentage change in income
Percentage change in demand  

   (b) 
Percentage change in demand
 Percentage change in price   

   (c) 
Percentage change in demand
Percentage change in income  

  (5) ¶ÛÛÉÛÈÛ×©Û ÈÛÍ©Ûä…Ûé¶Ûà ¼ÛÛ¼Û©Û¾ÛÛ× ¸ÛäÁõÈÛ¥øÛ …¶Ûé ›÷¬¬ÛÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û _______ ÐüÛéýÛ ™öé.  

   (a) ÈÛµÛä 
   (b) …Ûé™öÛé 
   (c) …¶Û×©Û  
   The more perishable commodity is _______ the difference between the 

supply and stock. 
   (a) more  
   (b) less 
   (c) infinitive 

  (6) ÈÛÍ©Ûä¶Ûà Ýïõ¾Û©Û ¶Û‘õà ïõÁéõ ™öé. 
   (a) ¾ÛÛ×•Û  
   (b) ¸ÛäÁõÈÛ¥øÛé 
   (c) ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛé 
   The price of a commodity is determined by _______. 
   (a) demand 
   (b) supply 
   (c) demand and supply  

  (7) ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û ïõÛ¾Û¶Ûé _______ ¼Û¶ÛÛÈÛé ™öé.  
   (a) ÁõÍÛ¸Ûóþù 
   (b) ï×õ¤øÛÇÛ›÷¶Ûïõ 
   (c) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 
   Division of labour makes the work _______. 
   (a) interesting  
   (b) monotonous 
   (c) none of the above 
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  (8) ½ÛæÜ¾Û ½ÛÛíé•ÛÛéÜÅÛïõ Áõà©Ûé _______ ™öé.  
   (a) •ÛÜ©ÛÉÛàÅÛ  

   (b) …•ÛÜ©ÛÉÛàÅÛ  

   (c) Š¸ÛÁõ¶ÛÛ ¼Û×¶Ûé  
   Land is geographically _______. 

   (a) mobile 

   (b) immobile 

   (c) both of the above 

 (B) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ÍÛÛ˜ÛÛ ™öé ïéõ ”ÛÛé¤øÛ ©Ûé ›÷¨ÛÛÈÛÛé : 6 

  State whether the following sentences are true or false :  

  (1) ÍÛ×¸ÛÜ«Û ÈÛµÛ©ÛÛ× ¾ÛÛ¶ÛÈÛ-ÍÛä”ÛÛïõÛÁõà ÈÛµÛé ™öé.  
   Increase in wealth means an increase in welfare. 

  (2) ¼ÛµÛä× ¶ÛÛ¨Ûä× ÍÛ×¸ÛÜ«Û ™öé, ¾ÛÛ¤éø ¼ÛµÛà ›÷ ÍÛ×¸ÛÜ«Û ¶ÛÛ¨Ûä× ™öé.  
   All money is wealth, so all wealth is money. 

  (3) …¬ÛÙÉÛÛÍªÛ¾ÛÛ× ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û …é¤øÅÛé ¾ÛÛªÛ ©Ûé ÈÛÍ©Ûä ¸ÛóÛ¸©Û ïõÁõÈÛÛ¶Ûà ˆ˜™öÛ ›÷ ¶ÛÐüá.  
   Mere desire does not constitute demand in economics. 

  (4) ÍÛ×¸Ûæ¨ÛÙ ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û ¾ÛÛ×•ÛÁéõ”ÛÛ Š½Ûà µÛÁõà¶Ûé ÍÛ¾ÛÛ×©ÛÁõ (Oy) ÐüÛéýÛ ™öé.  

   Perfectly elastic demand curve is parallel to (Oy) vertical axis. 

  (5) ÍÛ¾ÛýÛ¶ÛÛ ÅÛÛ×¼ÛÛ•ÛÛÇÛ¾ÛÛ× ¸ÛäÁõÈÛ¥øÛé ÈÛµÛä ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û ¼Û¶Ûé ™öé.  
   Supply becomes more elastic in the long period of times. 

  (6) ½ÛæÜ¾Û …é Š©¸ÛÛþù¶Û¶Ûä× ¾ÛÛ¶ÛÈÛ-ÍÛÜ›÷Ù©Û ÍÛÛµÛ¶Û ™öé.  
   Land is man-made factor of production. 

   


